
BEST SOLUTIONS OF THE SECOND ROUND 
 

175 - Vlad Klyachin, RUS 
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               65 - Milovan Kovačević, SRB 45 - Čedomir Milanović, SRB 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 

 

8150 - Vlad Klyachin, RUS 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5 4 6 1 7 2 9 3 8 1 

3 1 7 8 9 6 4 5 2 2 

9 8 2 5 4 3 6 1 7 3 

2 6 1 3 8 7 5 4 9 4 

4 3 5 2 1 9 8 7 6 5 

8 7 9 4 6 5 1 2 3 6 

7 9 3 6 5 4 2 8 1 7 

6 5 8 7 2 1 3 9 4 8 

1 2 4 9 3 8 7 6 5 9 

A B C D E F G H I  

1 6 1 6 1 6 

5 2 4 3 1 6 

2 5 3 4 6 1 

2 5 4 3 1 6 

5 2 3 4 6 1 

5 4 3 4 5 2 

2 3 4 3 2 5 

1 5 4 6 2 3 B B B B 

B B B 5 3 1 P 4 2 6 

6 4 2 1 P P P B 5 3 

4 6 3 2 P 5 1 B P P 

5 3 1 B 6 4 2 B P P 

B B 6 3 4 B 5 2 1 P 

2 1 P P P B 3 5 6 4 

3 2 P B P 6 4 1 B 5 

P B 5 4 1 B B 6 3 2 

P P P P 5 2 6 3 4 1 



    98 - Marko Obradović, SRB 15 - Andrzej Zolynski, POL 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0 - Nenad Savić, SRB 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

31 - Vlad Klyachin, RUS 
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1 2 9 4 5 - 7 3 8 6 = 

             

4 6 x 5 7 + 2 9 3 8 - 1 = 

             

2 5 x ( 3 1 6 - 9 7 ) + 8 4 =  

               

2 1 8 x ( 3 9 + 5 7 + 6 ) : 4 = 

5559 


